POWER

STANDBY

MOJOTONE BRITISH 90 WIRING DIAGRAM

1976 2204 MODEL WITH MASTER VOLUME

O
PRESENCE BASS MIDDLE TREBLE MASTERIVOLUME
5K Lin 1M Log 25K Lin 250K Log 1M|Log
OUTPUT TRANSFORMER
0JO PN: 7021850
7 =
= S
- 0, (37
\ % 7 % 6
X POWER TRANSFORMER = 7
'Y MOJO PN: 7020850
'R Y
% w o x
’ S Q g ' = ' & ' i
[ — ~N N N N N N
S o~ o~ o~ N N o~
)
, O
.
) ohN
' - ¢ A yH'¢
/ HARDWARE: 2 §
| 15 QTY 4-40 X 1/4" SCREWS FOR NOVAL TUBE SOCKETS, TURRET BOARD, AND POWER JACK GROUND
6 QTY 4-40 X 3/8" SCREWS FOR OCTAL TUBE SOCKETS AND POWER JACK
4 QTY 4-40 X 1/2" STANDOFFS FOR TURRET BOARD 15K A7p 33K
13 QTY 4-40 KEPS NUTS
6 QTY 6-32 X 1/2" SCREWS FOR CAPACITOR CLAMPS
6 QTY 6-32 KEPS NUTS
12 QTY 8-32 X 1/4" SCREWS FOR CHOKE AND TRANSFORMERS
12 QTY 8-32 KEPS NUTS 7
4 QTY M6 X 1 1/4" SCREWS FOR CHASSIS CHOKE S
= MOJO PN: 702280 P /
- \\ —— >
B o \ B . /
6 GROUND\IAB #6 GROUND TA \. * w3 W * W W
N R — I/
= V", Y [
\ ® !
7
50/50uF 4
3 8
2 1/
#6 GROUND TAB | EL34 #6 GROUND TAB

MAINS INPUT

MAINS FUSE 3A SB H.T. FUSE 500mA SB

.

OUTPUT SELECTOR SPEAKER OUTPUT

PRE-AMP \(OLU
TM L

100k
82001

mnﬂ D

TTEANNE=

2.2nF

2
2
f

/004’

OPTIONAL 10pF

5
~
w ‘=
S
NI v O
Q NS o
Q) 5
-
2
f
/’/"
///
////
//
’/' /
(
| \
9 V
8
1
7
2
6
3
s 4 =
N\
ECC83

BRITISH 50 1976 2204
REVISION 0
2/9/2022

TO SUBDUE
HIGH FREQUENCY
NOISE THAT
MAY OCCUR
DUE TO HIGH
GAIN AND
SENSITIVITY



